SEAER OB Y

1 B L7045
Rk 2 6 FEFES 3 [EB T TEGH & A=

2 PAfERRE

(1) LZLEps YRk 2 648 H7H (OK)
ZEHTOBES 04y ~2FRii1 10
(2) b L= YRk 2 648 H7H (OK)

FHIOWF3 047 ~%Fail 1M1 547
(3) A< - HilfS5< VEES YRk 2 648 A5 H (K)
F1% 13 00 ~4-1% 3 IFF

3 BAEGAT
BT 1 &4 78 FU0FHE

(1) LZ&Hs 2B 1 PR =
(2) o L= 3P 5 =
(3) A<D - #HlS5< v = 255 1 =

4 FEN OIS EIE

LLF OFEAM St 3R DM 24T - 72,

(1) LZ&ims

fi K| BULIERORE
(2) &6 LEs
fi R | HUREER O R
(3) A<V - HUl-S< V%
i R FREDHE 1w E

5 AL
0 A

6 MWEbHEdk
(BB TAEIRET 9% 3 0 5
(BB TG ORI BUR R
BFEES 0198—24—2111 (FfE212)



